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It is impossible that the strands of the weave should not rise
higher than ten 2°1750

OVERVIEW

X317 maintained that even if the M3 is not " M, nevertheless if 1t 1s ™ M2
he will be Mo, since there are some strands of the N2> which are above ten
onov from the ground of the 7"77, which is a Mws 03PN, Therefore since the
N> is not totally at rest in the 2"77, but part of it rests in a >1wd 0p» he is
not 2. Our MpoIN explains s™ax view (why he is 2).
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And according to 528 the nv»19p is not sufficiently important that the
n > should be considered that it is attached to a 21vs 21Pn.

SUMMARY
The concept of 7D 21P12 171X does not apply to something as insignificant
as a n’M1p, according to "IN,

THINKING IT OVER
Seemingly *"wn already explained® that according to *»ax the n11p is not
2°wr; what 1s N1®OIN adding?!7

' This moon should be before 7ix93 7"7 MdOIN. See WX NI

*The nn3 is not a >,

3 This is referred to as MWD DIPn2 17K — it is attached and connected to a 7wo DPnA.

* See X "7 "0,

3 »2x maintains that the nm7p is insignificant and not an integral part of the nam>. Its presence in the DpP»
75 should have no effect on the rest of the N> which is resting entirely in the 7"77.
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" See "X 1.
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